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HP PE ¢ 100mmiicZkBThER T HEFTES
NO, 7
g 4 R
I £ _# R TE S| % & | EHE %
HHEH)
DERELY
EFRZEE WE) HPPE ¢ 100 X 5,000 | #& 2| 5000 6.040 6.040
EFYfyb HPPE ¢ 100 @ 1 - 1
EFAUN (323 HPPE ¢ 100 x 45° @ 1] 0490 1 X 0490 0.490
EFAUN (B2 EY) HPPE ¢ 100 X 45° L[E3 1| 0380 1 X 0.380 0.380
PEFE O fHY7h - L Y15 ¢ 100 E: 1| 0860 1 X 0.860 0.860
HPPE-DIP
PCY 34U ¢ 100 # 1 - 1
¢ 150TEt L
GXF, ZRTFE GX ¢ 150% 100 | & -| 0.140 1 X 0.140 0.140
EEMSNERER)
GXF EEE & ¢ 100 #8 1 - 1
DIP-HPPE
LTINS EREBERT ¢ 100 & 1] 0660 1 X 0.660 0.660
HHEDM)
A5
Tt A%E TR ¢ 250 >4 1 - 1
LU AR R ¢ 250 X H100 & 1 - 1
L TE
HEIFRAVY VR IR ¢ 250 X H150 @ 1 - 1
[E1R
HEIFRAVY VR IR ¢ 250 X H40 @ 1 - 1
BEEER 8570
To#
BHRT-7 HPPE ¢ 100 m 7.7 - 8570 — 0.860 7.710
To#
BHRY-F 7hE 470 W=150 | m 7.7 - 8534 — 0.860 7.674




HP P E & 100mmiEtkKEfRRT HEFHES

g 4 R
I £ _# R TE S| % & | EHE 15
FE
BEEER T
FYIFLVEMEE T (Bh) ¢ 100 m 7.1 - 8570 - 0.860 = 7710
EFYrybils2
FYIFLVEMTF I (BEE) | 610020 #F) |&FF 1 - 1 = 1
AREE EFAUNER EFAUN K
FYIFLUEMF T (BEE) | 61001 O#F) a 5 - 2 4+ 1 x 2+ 1 = 5
PCY'3Mb
FYIFLYEM-ANEF T ¢ 100 ] 1 - 1 = 1
PCY'3Mb
MZhIHEF T R15%18L) ¢ 100 [m] 1 - 1 = 1
UERELY
R YIFLVE VIR T ¢ 100 n 3 - 3 = 3
BBV T TH4VEEEEE ¢ 100 O 1 - 1 = 1
BEIRBHER)-THEL ¢ 100 m 8.6 - 8.570 = 86
BHREHRFT GX ¢100 Ef2E | A 1 - 1 = 1
SBHAUGUIFEET @ 100(#tHY) ® 1 - 1 = 1
AR5
TUFASSENRET ¢ 250 & 1 - 1 = 1
HEUHFARYIARET ¢ 250 X 100 @ 1 - 1 = 9
L TE
HEUHFARYIARET ¢ 250 X 150 @ 1 - 1 = 9
[E1R
HOFARYIARET ¢ 250 x 40 & 1 - 1 = 1
BEHRT-7RAMAT HPPE ¢ 100F8 m 7.7 - 77 = 77
T AT
BHRY- MRS T W=150 m 7.7 - 7.7 = 77
EKEBRT HKETE m 8.6 -
ERES
+TD-4 m 7.0 - 7.0 = 70

+IT@-5 m 1.5 - 1.5 = 15




WHEH=EXTSTBIENETY

( )¢ )
( )¢ )
( )¢ )
( )¢ )
A ik V ¥ T4 BYE
Ao.o V AS 0 V 1170 1070 67 0 00 |3 TN BYE
cu| XL-(4(C FAYEEY TYWFE
( )¢ ) 103y
Am.o V AoN 0 V 600 €00 12°0 €0°0 [ewW| ELMLiLYL AYVHL TEWTH
103y
€ 6T wo 820 0l7¢ 0£0 e @WF PYE TEWTH
( )¢ ) 103y
FT] wog=3 HIZ w g
( )¢ ) W CwwozsYHEFE
cu wog=3 HIZ Y EET
( )¢ ) W wug )| SYTHEY T
[4 0L'G 060 090 0 v 09°0 [ouw uog=3 EEEEE
( )¢ ) Y Cuwg|SYRBERE
Am V Ao_ G V 060 09°0 0Cy 09°0 o woz|=3 0g-Wy IHAET
Am V Ao_ G V 060 09°0 0Cy 09°0 [ouw wop|=3 0€-04 THAEL
A iR V cu wo0z=1 0v-0d THAEL
[4 GG 1 050 €€0 GOl GL 0 |CW|[F+¥ @EEN/~Z THE M
( )¢ ) £W8Z "OHg
[4 291 6¢°0 61°0 [ 610 [cW[FY®H @EZ/<Z THE M
( )¢ ) £W8Z "0Hg
2 v 860 G9°0 6C°¢ (V0 [ou] FE® - FEM@ - @ TEWE
( )¢ ) €W8Z "0Hd
cu Lruog =1 THMHES
( )¢ ) H{FE300
5 0§ 060 090 0 v 09°0 o Lruwog =} LTHMIEES
( )¢ ) LEAA
u L YFwog|=3 THGRS
( )¢ ) H{FE300
[l 00 L1 00°€¢ 007C 00 ¥l 007 |uw 4 Yqwog|=1 THGRS
( ) ( ) EE A
EREE £ 8 u G| u 0°f 1 5 2 %
THEE= 61 TEE= 01
S-OITF ZON | +~-OTF 10N | ON

ERLR¥S ERTT




gwg

gug

gwg

gwg

gwg

ey

vYEE

(FE4) g

Lot -

w d) LT -
LR NP

(FHEA) V4@V -

(FY ) Wew
(FY#f) Wew 8z 0
(FH3%) MWeuw
(FF3) Wew 8z 0
1AW Hd -
(FHE@) Wwew
(FHEM) Wew 820
X Y-
(FEX1) [HEELY -
Alﬁkt_ v w@»‘
(FH®M) Wew 820

[HEtHd -

W EH = E%

JICEHIENEET

|

G2 .
¢ M Y
_w YR OY Q
e . geu By 17l T
=|e YR
4 Aew 8z 0 BT | H €| %
mE
z'¢ .
ma =
9°1 e BTl
gle Y|
91 HHew 8z "0 FyITl (Hd
¢ TV Hi
9°1 e Byl
gl Y|
9°1 Aeew 8z 0 My |H 4
e +F ¥
+ A i

9°1

(X))
N7 .
ma =
e
g 2y fIE}
ma

Hrew HyIl
g i
7 eew 8z 0 HY Il Hd
ma

+ F ¥

¥ L W EF T




WHEH=—EFEISEHTENGEET

12070 7 G¢'c X €00 AENULL S L
FYE
€00 g G0'0 X 090 X 001 TENULL Y A YIRS
LW Ty 5%
0€°0 gu 060 — SGI'0 - L¥VO T e VIEY
Y F[HEE L TE T %
09°0 cu 09°0 X 00°T wog =]
(LY wwg Syt & ) 1| Z) 2 LHIH
09°0 cu 09°0 X 00T wog =7
(OS-N) T ZHHE T
09°0 cu 09°0 X 00°T wog =7
(05-D6)T Z5i )/~
G1°0 g GZ'0 X 090 X 0071 MEZ B NV
Sweg OHY T 249 3 3y
610 g ¢I0°0 — €80 X 090 X 001 TY B @lE# s
SWeg OHY T 249 3 3y
LY°0 g ( G000 — €80 )X 090 X 00T F BT B
Sz OHA T WP
09°0 cu 09°0 X 00°T A JTWIO[=1 NYZEHESY
WR7 2 2R
00°¢ w @ X 00°1 o JTWIGT=1 NYZEHESY
WA
Z & 2 ¥ \WH# M Y %
gLEMI
= ¢ /J ¥ X X = a8
wseur g1 0 = V4 / z X 0810 X 08I0 = A i B
w/0=H 001 9 HigrHYl = gL
w0 =1 QT F = Ak
TN
=E B £ E g T F

SEH




WHEH=—EFEISEHTENGEET

L0°0 2 Ge'Z X €00 PENULL YL
YV
€0°0 st G0'0 X 090 X 00T PENULLY L VI
LW TEwyT 5%
82°0 sur 060 — €80 - 690 L VI
TR [ LA T T %
09°0 Fu 090 X 00T wog =7
(LY wwg Syt & ) 1| Z) 2 LHIH
09°0 Fu 090 X 00T wog[=1
(05N T Z5 5
09°0 Fu 090 X 00T w201 =1
(08-0M)1 Zs8 a5
£¢°0 sur GG'0 X 090 X 00T T Hie @B s
SWz OHI T 24 3 W3y
61°0 sur €100 — €80 X 090 X 007 FYE @l s
SWZ OHI T 24 3 W3y
G9°0 st ( G600 — €I'T )X 090 X 0071 F BT B
Sz OHA T WP
09°0 Fu 090 X 00T A JTEI0[=1 HYFEHESY
LAY
00°2 ur 2 X 00T A JTUIGT=1 NYFEHESY
WA
Z & 2 ¥ \WH# M Y %
gLEMI
= ¢ /J ¥ X X = a8
w/gw g100 = F /X X 0510 X 0§10 = @i
wo'r=H 001 ¢ HigrHYl = g LI
w oG] =7 S-DITF = HRE
Z'oN
[ — |
E 8B £ E B T F

SEH




LEH

WG EH = EHEISEFHIENEETT
91991 ¢ 096°‘c | 0¥0°‘9 ¥ 000°‘S = 1 [EEZEYdd 001 ¢ dddH]
. . 068 096 ‘Z 08T ‘T —
14 096 ‘C 0%0 ‘2 068 _— € 0ST ‘T —C 14
€] ¥ Bl
. 000 ‘T 000 ‘¥ —
T 000 ‘T 000 ‘¥ 0007y —C T
% (1] ~
NV TIIECE -4 R SN TS -4 S S Tt S | Yk |EE|R | Yk | HE
b 2 T (-7 g D&
g G 2 £ B H
00€ = 2G2 0S¥ = &G Thp S ANH S EHE S R m S

Wn

B0

[EEEH43 001 #3ddH]




I 0 I 0 0 0 0 0 I 0 T 2
1 I I I 0.0 | 00T¢ I (€) x| 5,7
Ob=H | 008=H = 0SI=H | 00€=H | 00€=H = 002=H | 00T=H | 0ST=H = 00TI=H | 0S=H
L peEs] LT TR Fa it ch T L (FEE mexau| a¥T | BO ON A
(0592) S 14fH

FAl =L GH




EEIE G/ OAddHENE € ¥



WG EH = EHEISTEHIABNEHET
| | 6z ¢
4 £ 8 F F T REHEF
| | 6L} x 6L P IddH-dIa
1 £ 8 Ed B EWHISBFHIEE40L
| | LY xSLD
4 £ 8 Ed B SELEEE N OHIAd
| | gL
1 ¥ 8 E 3 LR E O 8ad
| | gL
1 £ 8 & B B 4L 43
| | LY xSLD
1 £ 8 B B (FEEm),Y—£ 43
7 7 .87 X §L ¢ 3ddH
6 £ 8 B B (fez=m) 44,v 43
7 7 .87 X §L ¢ 3ddH
1 £ 8 & B (FEEH) A%V 43
| | S @ 3ddH
[4 £ 8 Ed B yhg4t. 43
| | 000'G X 5 @ ddH
74 £ 8 ¥ ¥ SEEY 43 537
THYS
| | @F TH
o £ 8 gw gw law HUWFFH¥
| | FE% GE S
oe £ 8 gw gw ewgz oHg THEEMH HHAS
| | FYH QE#E
0c £ 8 gw gw ewgz oHg THEEMH HHAS
| | THR THG @
09 £ 8 gw gw ewgz oHg TEUMH IHEESES
ITHES ([HEH TFRE
e ow (B0 £ s ¢ 3 B # 4|m o (SN (GBI (8FEUv | (BT
+ON SLO (SN S ERET) L1V
EEHWBER

LYE%




W EH=EHXISERIENEET

vocl

4o

0GL=M L& 3L

LS

olel

4o

B{SL @ 3ddH

L—LMERS,

4o

&

0% X 00§ ¢ X4 5
Y46 A EFE

4o

B

002 X006 P 8

Yoo A A S

4o

B

002 X 006 P 48T

Y46 ME A E T

4o

7

X

005 ¢ &ei

EVH¥ R

4o

B

ObH X 062 ¢ ¥y 5
Y46 A GH

4o

&

00EH X 052 P 8
Yoo E MMEHEGT

4o

&

0SIH x 052 P 8T
YoM AMEHEGH

4o

B

001LH x 052 ¢
HREEHEGLT

4o

7

3

052 = Ak& 1t
ERHY¥GY

4o

051 ¢ dos
44

HEHOx

4o

f(ONg GLP
JiE 3 AT

4o

MGL YYI4iLY GL
HEw.anLL

0SLH X GL @ (MG'L/74D)
F58

g7

THEYS

(IHE) TF RS

S
]

4o

e | <o

"
HEH

(HEHG1 v

(IE B~

(IEEE 1

(BT)2v

cON

LYE%

SLO (SNced

E 2 W

R

e

%

(YRET) LA




W EH=EHXISERIENEET

7 7 051 X057 Pl T
| 2 s Gl G TERYGCIH BT
7 7 00£ X 06 P g
1 £ 8 Ed B TERYAHEBT
| | 051 x 052 P 4T
1 £ 8 Ed B TERYAHEBT
| | 001 X 06 § 4 FF 12
4 £ 8 Ed B TERYAHEBT
| | 052 ¢ & L2l kd
4 £ 8 Ed B ITENEVHEGY
| | 0519
0¢ £ 8 w w Th#SE
| | 6z ¢
4 £ 8 F ¥ TEREXE
| | EWSL P
1 £ 8 F ¥ TEE¥GHESE
| | gL
zeel ¥ 8 w w TEW.-(YRYBEESH
| | gL
€l £ 8 m] o THGS LT
| | gL
! JER, o o TEBER.AMLL
| | gL
€ £ 8 [m} | TEMACLL
7 7 (EWOLSLO
ey £ 8 ] m] (ELH) TEMSLTNY
7 7 (EWOT)SLP
€ £ 8 HE We (Ef) TEMSNLTNY
| | gL
Gzel £ B8 w w (BL) TREW ST Y T2 THEYS (IHeH TXRE
g w (Bel £ s ¢ 3 B B # Mlm o (SN (GBI (8FEUv | (BT
EON 5O (BN TS (GFET) L1
EH B ER

LYE%



W EH=EHXISEFIENEHET

N A%
veel £ 8 w w TEERE
| | 0SL=M.C.6 34
vozl £ 8 w w T - LS
| | BSL @ 3ddH
olel £ 8 w . TR -LEHRE
0% X 008 ¢ E
[4 £ 8 B B TERYYHEET
7 7 002 x 006 8L
[4 £ 8 B & TERY(CEHEZE
7 7 002 x 005 ¢ 8 T
[4 £ 8 B & TERY(CEHEZE
7 7 005 ¢ e Hd
[4 £ 8 B E TERERHYZEG
7 7 0% X 052 § ¥
4 £ 8 B B TERYAHEGT EWS TRYS (IHEH TTRE
g w (Bel H s ¢ 1 B ® # Mlm o (BB N (BB | (EEEUMA | (BT
Y ON SLP (SNced) (ERET) L1V

L]
EFHSBER

LEE



WP EH=EHXISEHIENEHET

T BN TEREDE
zeel L, w w
EHISUH
ERLEX HECLE-IHIEX
9l £ 8 Y Y
B3 BB
wog=} HIE Y B
L £ 8 qw Tw (LY “wuwg sy B R
woz =1 0e-WY THAET
0z REg Tw qw
woQ =1 0€-0Y THE
L REg Tw qw
THIE X FE
BALLY L TEMFE
89 £ 8 } 1
TAULLY L FPVIEY TEWFE
€ £ 8 gw gw 1aw
A wop =3 TRy e
vL £ 8 w w LUE:A =
A rwog)=3 THGFRES
05 R w w i Fessy
TERRE T&b
e ow (B0 TR ¢ 3 = mmwmm (BB (GBI > (GBEINVA | (BI)2UVA
9ON 5O (BN TS (GFET) L1
E NG ER

LYE%




2

HPPE 6 75mmickETRERT HEBFHES

NO.
g 4 R
I £ _# R TE S| % & | EHE E_Z
HHEH)
ERER4)
EF FZESE HPPE®$ 75% 5,000 | A& 20| 5.000 20 X 5.000 = 100.000
DERELY
EF FZEE (JE) HPPE ¢ 75 % 5,000 | & 4| 5000 16.020 = 16.020
ERER4)
EF Yfryb HPPE ¢ 75 J[E3 2 - 2
ERER4)
EF AUN(F2E) HPPE ¢ 75 X 45° @ 1] 0480 1 X 0480 = 0480
ERER4)
EF AUN (SR HPPE ¢ 75 X 45° & 9| 0380 9 X 0.380 = 3420
EF F-R (A2 E) ¢75%x ¢ 75 J[E3 1| 0100 1 X 0.100 = 0.100
ERER4)
EF 770V % ¢ 75 J[E3] 1| 0400 1 X 0.400 = 0400
ERER4)
PEFE O fHY7h - L Y15 75 P 1] 0780 1 x 0780 = 0780
ERER4)
PEFEO{HEMRTFE 75X P75 J[E3 2| 0710 2 x 0710 = 1420
DIP-HPPE BEER®4)
IR ERRBEMRT ¢715% ¢ 75 & 1| 0615 1 X 0615 = 0615
ERER4)
EERERRMERS ¢ 25 = 2 - 2
(GFH/7.5K) BEER®4)
wEHs ¢ 75X H150 E:S 2 - 2
e T#
770V MFEH ¢75 ATULAA 1.5K| #f 3 - 2 + 1
TR
IV FM $75 BNOH #f 2 - 2
HHEH)
ERER4)
HE SGP ¢ 150 x 1| 4000 20m
A5 BEER®4)
Tt A%E ¥ ¢ 250 >4 1 - 1
ERER4)
eI 5 AR ¢ 250 X H100 &8 1 - 1
i ERER4)
HEOHFRALVY R YIR ¢ 250 x H150 & 1 - 1
;] BB E(4)
HEOHFRALVY R YIR ¢ 250 x H300 & 1 - 1
EHR RERA)
HUIFRAVY VR IR ¢ 250 X H40 & 1 - 1
M35 RERA)
TERFRAKE ¢ 500 >4 2 - 2 TRF
i ERER4)
TRV IVE VIR ¢ 500 x 200 & 2 - 2 TEF
;] BB E(4)
TRV IVE VIR ¢ 500 x 200 & 2 - 2 TEF
EHR RERA)
TRV IVE VIR ¢ 500 x 40 & 2 - 2 ZEH
EEER = 123235
TFE To#
BHRT-7 HPPE ¢ 75/ m 121.0 123235 — 1420 - 0.780 = 121.035
TFE To#
BHRY-F 7hE 470 W=150 | m 120.4 122635 — 1420 - 0780 = 120435




2

HPPE 6 75mmickETRERT HEBFHES

NO, 2
g 4 R
I £ _# R TE S| % & | EHE E_Z
HH
EEER itU#
FYIFLVEMEE T (Bh) ¢75 m 1225 - 123235 - 0.780 122.455
EFYryblis2 EFF-A T3
FYIFLVEMTF I (BEE) | o 75(2AMF) |@&FF 3 - 2+ 1 3
AREE EFAVN TR EFAUN 52
FYIFLVEBMETIGEE) | o750 O#%F) [m] 43 - 24+ 9 2+ 1 43
EAEMEH  ZEEH
I3V MFET ¢ 75 [m] 3 - 5 - 2 3
I3V MFRET 75 [m] 1 - 1 1
DERELY
R YIFLVE VIR T ¢ 75 [m] 13 - 13 13
BEIRBHER)-THEL ¢75 m 1232 - 123.235 123.235
SBHAUGUIFEET o 75(#iE ) E- 1 - 1 1
ERAFZETL ¢ 25 = 2 - 2 2
HERSTT ¢ 150 m 20 - 2.0m
A5 BEER®@4) BEE
TUFASSENRET ¢ 250 & 2 - 1 + 1
R ERER4) BEE
HOFARYIARET ¢ 250 X 100 & 2 - 1 + 1
LB ERER4)
HEUFARYIAZRET ¢ 250 x 150 & 1 - 1
TE& ERER4)
HEUFARYIAZRET ¢ 250 x 300 & 1 - 1
L TE BRE
LU FARYIAZRET ¢ 250 x 150 & 1 - 1
EiR ERER4) BEE
HOFARYIARET ¢ 250 x 40 & 2 - 1 + 1
M35
ERAARERET ¢ 500 & 2 - 2
L&
ERFARATVIAZEL ¢ 500 x 200 & 2 - 2
;]
ERFATVIAZET ¢ 500 x 200 & 2 - 2
ER
ERFATVIAZET ¢ 500 x 40 & 2 - 2
BRRT-7RAT HPPE ¢ 75/ m 121.0 - 121.0 121.0
TN BTN
BHARY- MRS T W=150 m 120.4 - 120.4 1204
BAKEAERT HKETE m 123.2 -
T THEREF
TIT@-6 m 28.0 - 152 + 68 6.0 280
+IT@-7 m 46 - 46 46
TI1d-1 m 85.9 - 377+ 419 6.3 85.9
+TB-2 m 4.1 - 4.1 4.1
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HOKEMRT HEFTES

NO, 71
g 4 R
I/ £ _# BRTZE L & AWt B _Z
HHEE#)
GXf: EE (UE) ¢ 150 X 5,000 PN -| 5.000 3.630 = 3630 mAETHL
TERAELY
GXF: BEE (UE) ¢ 75 X 4,000 N 1| 4.000 2.680 = 2680
HKE ¢ 150Tat L
GXl —Z2TFE @150 X ¢ 150 & -| 0150 1 X 0.150 = 0.150
HKE2 ¢ 150TEt L
GXz ZZT=EE $150x ¢ 75 & -| 0.140 + 1 X 0.140 = 0.140
EEMRtNERER) HKE
GXW &M ¢ 150 A 2 - 2
EEMRtNERER) HKE2
GXW &M ¢75 A 1 - + 1
HKE
GXW &M ¢ 150 G-Link 4 1 - 1
HKE2
GXTZ HEM&E ¢ 75 G-Link 4 2 - + 2
HKE
GXFz m2YIM - LY F+ ¢ 150 P8 1] 0220 1 X 0.220 = 0220
HKE2
GXFs M ANy —MEI S ¢ 75 P8 1] 0.180 + 1 X 0.180 = 0.180
DIP X VLP Hok &2
VCH#%V 3Mub ¢ 75X ¢50 #H 1 - 1
HKE
K#z &g ¢ 150 & 1 - 1
EBEIMZVYRE ¢ 50 x 4000 X 1| 4.000 0500 + 0300 + 0500 = 1.300
HKE2
BEF=Vy IR ¢ 50 & 3 - 3
HKE2
BB ¢ 50 & 1 - 1
HH(FDM)
Af15 K& Hok &2
TUFA%E T ¢ 250 ® 2 - 1 + 1
HEKE HKE2
T #RERAES ¢ 250 x H100 & 2 - 1 + 1
+TE HEKE HKE2
HEFAVY IUE YR ¢ 250 X H150 [E] 2 - 1 + 1
[ER HEKE HKE2
HEFAVY IUE IR ¢ 250 x H40 [E] 2 - 1 + 1
EREIER(¢ 150) = 4.000
BREER(¢T5) = 4300
BRELERAT = 8300
To#
HBRRT-7 DIP ¢ 150 m 3.8 - 4000 - 0220 = 3780
To#
BHBRRT-7 DIP ¢ 755 m 41 - 4300 - 0.180 = 4120
To#
BEEHRY-F W=150 m 7.6 - 8000 - 0.400 = 7.600
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I/ £ _# BRTZE L & AWt B _Z
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SEEEMRT GX ¢ 150 m 38 - 4.000 - 0220 3.780
RELR VLP ¢ 50 to#
SEEEMRT GX ¢ 75 m 28 - 4300 - 1300 - 0.180 2.820
BEER
BHEWEL FYIFLYRY-T $ 150, m 4.0 - 4.000 4,000
BEER VLP ¢ 50
BHEWEL FYIFLYAY-7" 75| m 3.0 - 4300 - 1.300 3.000
BHREMFT GX ¢150EBE | O 2 - 2 2
BHREMFT GX 075 EWE | O 1 - 1 1
SESMEMTFT GX ¢ 150 R & (G-Link) | H 1 - 1 1
BHERFT GX @75 EHE(G-Link)| O 2 - 2 2
DERE
SR EVIMT T IVY Uhys— ¢150 | O 2 - 2 2
DERE
SR EVIM T VY Uhys—- ¢75 | O 2 - 2 2
HERMTT VLP ¢ 50 m 1.3 - 1.300 1.300
HERT VLP ¢ 50 [m] 3 - 3 3
Mlyt—
MERLCYYT VLP ¢ 50 [m] 5 - 3 0 x 2 - A 5
Flyt—
HERQLAAEEST VLP ¢ 50 [m] 5 - 3 0 x 2 - A 5
&g
MZIVEFT ¢ 150 a 1 - 1 1
VCY'3{uh
JICAVEFT dI5LUT [m] 2 - 2 2
HKE
YIN-MEYIRERET ¢ 150 = 1 - 1 1
HKE2
BSELYFRET @ 75(#iEEY) = 1 - 1 1
AR5 HEKE HKkE2
HUFREREZET ¢ 250 [E] 2 - 1 + 1
hEE Bk ke
HUFRATYIARET ¢ 250 X 100 [E] 2 - 1 + 1
+TE HEKEL HKkE2
HUFRARYIARET ¢ 250 X 150 [E] 2 - 1 + 1
[ER HEKE HKkE2
HYFRARYIARET 250 % 40 [E] 2 - 1 + 1
HORART-7ERTT DIP ¢ 150/ m 38 - 38
HOART-7ERTT DIP ¢ 75 m 4.1 - 41
BRI T W=150 m 7.6 - 7.6
HKE2
ITHEAT G 90LLE ¢ 110K | & FT 1 - 1 1
EKERERT HAKETE m 8.3 -
T TERES
HEKEL
+IT®D m 4.0 - 4.0 4.0
HKkE2
i Q) m 3.0 - 3.0 3.0
HKkE2
+I®-8 m 0.5 - 0.5 05
HKkE2
i Q) m 0.5 - 0.5 05
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R 2

BRE

BET BESES

NO. 1
5 H R
T/ £ _# BRTZ Hr| % & | gHE B =
5
54 S ER1 SIS ER3
B ERET FHINEESE H150 | m 350.3 - 3358 + 105 + 40 350.3
M ER2
BESRERET FY34NEEEKE 100 | m 85 - 85 8.5
513
BEEREWET Fha4 58K ¢ 75 m 122.6 - 122.6 1226
BRI A ERET jEilzid 11 - 11
BREESH KRR EWET Eilzid 2 - 2
B ERAERET Eilzid 2 - 2
ToH SHAAR TR
Cork %% m’ 1.5 - 11 + 2 + 2 )% 0100 1.500 BOXi#iFE
BRERE UM T TH9NEEE 150 | O 116 - 3503  / 3 116
W
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FEIMTESR @R T— 0T ) (FHET)

& & No. 13t WA A
T @ A o-EE L
ROV 2. 000 m 2.000
N R 2. 058 m 2.058
s B 4. 11 SIHUT 2. 090 m 2.090
B 0.016 m 0.016
Je UH 2. 00 m 2.00
reysrsiE R M 4. 00 m 4.00
¢ 2000 & 2.00 m 2.00
FEIEARE-2000 2% 1=2.00 1 =] 1
W t=16mm 18.9 m 18.9
51 kT RCI16t 0.9 m 0.9
kT 4tF5E2.91 1 &P 1
] Wr T« 12.4 m 12.4
AIT T 1.21 t 1.21
pato N5 m
JEASRH] HEE  5<N=30 m
g A L WE+E N=30 7.35 m 1.35
B.0mET)  mEt  N=30 0. 65 m 0.65
30<N=50 m
JE AR WHT N=30 0. 70 m 0.70
H A L m
(8.0mLL I) m
BN T3k /EN 1 & T 1
JE RS PRk & T [a]
AR 2)—h | 30-18-20 3.1 m® 3.1
e | ILEEAKE & T 1
THIREL T L9 m? 1.2
#oHl T AifiE D 75 K2 0.45 m3
s —kE+ 29.9 m® 29.9
HOE I EAL 22.0 m® 22.0
m3
9553 a7 —hT ¢ =18N/mm2 0.8 m® 0.8
27 —h TP T. S ) 3.7 m?> 3.7
MIEE T ¢ 2000/ | FRE-1E 1 & T 1
SRR t=10cmbd F 6. 10 m 6.10
AR T AR A 6. 28 m?> 6.28
T AT 7 VN 0.25 m® 0.25
I & 4 t=3cm 3. 14 m? 3.14
. A 2 m”
E%’?EI TBEEAE | AR =100 314 m? 314
LB R t=120m] 3. 14 m?> 3.14
2
m




[r— v rRarsi] 1.3 MHLAFS  No. 13 ¢ 2.000

H H B H
= &t =1 = AT+
moR M A i i -
SMYRRE L WM KGR —v T
L= 2.000 m n= 1 & = 1 R 1
S — T
L,= 2.000 m n= 1 & =i 2.00 | m
FiEr— 7
L,= 2.000 m n= 2 K =i 400 | m
& r— 7
L,= 2.000 m n= 1 & 2.00 | m
& 3 =i 800 | m 8.0
G — v 7Rk $2.000 m L= 2.000m = 1.0 [| 1
JEAIREIREAT 8. 0mE T ki1t N=5 H= m = m
BiMET 5<N=Z30 H= m = m
R C16t/F WYE+ N=30 H= 7.350 m =i{7.350 m 7.35
5+ N=30 H=  0.650 m GHEEPs) =i 0.650 | m 0. 65
30<N=50 H= m = m
CS0.4 3 ATY TR S & #F =i8.000  m 8. 00
8.0mbl I WYE+ N=30 H= 0.700 m ={0.700 m 0.70
R C16tH H= m = m
CS0.4 AT TR & & 2 =10.700 | m 0.70
JEARKER - ik T JE NI 1 % 1 f&pT ( FREhE ARE-2000 ) = 1 | f&Ar 1
FEMGERE « FERE T JE NI 1 % =] ( FEEHE ARE-2000 ) = =]
ROA. FHE A-8-9% Y
K=y )" UREET. t=16mm R 6.300 m AETERT 3.0 T
L= 6.300 X 3.0 =:i18.90 | m 18.9
=y Bl BT R C16t/H RO4. THE A-8-9% 1
L= 0.90 m =i 0.90 | m 0.9
=y AT *EE  1.450 m ( 4tfE2.9t ) = 1.0 |7 1
r=yy )" G L r=yy) A 2.090 m W=EE 1.450 m
L= 7 X 2.090 + 1.450 X 4 =i12.37 | m 12.4
27T B WERE 1.450 m  HEfI{AFEERE 0.818 t/m
HATAFEERE  0.126 t /m?
W= 1.450 X 0.818 t,/m 1.186  t
D=0. 400+0. 05 X 2= 0. 500m
i W= x4 X 0.500°2 X 0.126 t,m2 =10.025 ¢t
WZZ — t
FF= 1.186 + 0.025 + 0.000 1.211  t 1.21
EEfRaVI)-b T 30-18-20] V = 3.10 m® RO4. THE A-8-12% Y =i 3.10 m°® 3.1
SEHUNHEK T n= 1 f&EFT = IR 1
2T 4 MEET V= 1.20 m*® RO4. FHE A-8-161 1 =i 1.20 m°® 1.2




[Fr— v rRarst] 273 sS4 No. 1% & 2.000

| H B - ‘ W
%i %IJ %Hﬂ E n+ H iﬁ ﬁj. iﬁ( 1==R

WOHl T AR Y /95020045 m° HEEX . 5.0cm MR

V,= 2.000 X 2.000 X ( 0.000 — 0.050) = m?
EEEEEX . 5.0 cm ey
#El 8 V= 7,74 X 2.090°2 X 8.700 =:i29.85 m*
=v27° )
#EIE | V= 0.00 + 29.85 =i{29.85 m°* 29.9
RS T —RFE+ V= 29.85 — 0.00 =199.85 |m® 29.9
AR LSS ¢ 7.750 m
HORE T AL vy = x4 X 2.090°2 X 7.750 =i{26.59 m®
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